
1. Nigel paid $21 for a movie ticket. Michelle spent $4 for each of the six pens that she bought. 

Who spent more? 

A. Nigel 

B. Michelle 

C. Both spent the same amount of money. 

  



Try Again 

  



Correct Go to the Nex Question 

  



2. Lynn has a jacket with 4 pockets. Peter has 4 jackets with 1 pocket each. Who has more jackets? 

A. Lynn 

B. Peter 

C. Both have an equal number of pockets 

  



Try Again 

  



Correct Go to the Next Question 

 

  



3. There were 4 men and 3 women in a gold mine. The four men individually collected 3 kilograms 

of gold. The three women individually collected 4 kilograms of gold. Who collected more?  

A. The four men  

B. The three women 

C. Both groups collected the same amounts 

  



Try Again 

  



Correct Go to the Next Question 

  



4. Taye bought 4 erasers, $6 each. Mamo bought 6 books, $5 each. Who paid more? 

A. Taye 

B. Mamo 

C. Both paid the same amount of money. 

  



Try Again 

  



Correct Go to the Next Question 

  



5. Neil paid $5 for each of the 4 cups while Ron paid $4 for each of the 6 cups that they bought. 

Who paid more?  

A. Neil 

B. Ron 

C. Both paid the same amount of money 

  



Try Again 

  



Correct  


